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x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4
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A=x24ax+b, B=x%>+bx+a 2 HAFF+ G
7} x ofl gt DOV A+ B=G(px+q) LW, AT a+b+p+gq

I
=

®-1 @0 ® 1 @)2 ® 3

G = A+ B,A-B 9 Q1571 "t
A-B=(a-b)x—(a-b)=(a-b)(x-1)
L G=x-1
Aol x=1H4,
l+a+b=0,a+b=-1
A+B=2x*+(a+b)x+a+b
=2x2—x-1
=(x-1D2x+1)
p=24q9=1
a+b+p+qg=-1+2+1=2
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xtyz + 37— xy?z +x3 -3z +y22 =0
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(x%y + x3 — xy% + x2% = y3 4+ y7%)z

{x*(x+y) + (

(x+y)(x®> + 22 -¥*)z
(x4 )+ 22 -z
22 oy2 =0 (-

L2 =2 =yt




5. Al WS A a, b, coll ot [a, b, ¢] = (a—b)(a-c)e & i,
[a, b, c] +[b, ¢, a] + [c, a, b] =0°]®HA [a, b, ]| BF2?

@o @ 1 ® 2 @ 3 ® 4

B

(a=b)la=c)+(b-c)b—a)+ (c—a)(c=b)=0
A5t A5t a? 4+ b2 + ¢ —ab—bc—ca =0
(a=b)2+(bh-c)?+(c-a)?=0

La=b=c

“ la, b, c]=(a-b)(a-c)=0




